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QUESTION 1

Which tool can deploy destructive changes to Apex classes in production?
A. Workbench

B. Developer Console

C. Salesforce Setup

D. Change Sets

Correct Answer: A

QUESTION 2

Which two events need to happen when deploying to a production org? (Choose two.)
A. All Process Builder Processes must have at least 1% test coverage.

B. All Apex code must have at least 75% test coverage.

C. All triggers must have at least 1% test coverage.

D. All Visual Flows must have at least 1% test coverage.

Correct Answer: BC

QUESTION 3

Which control statement should a developer use to ensure that a loop body executes at least once?
A. For(variable : list_or_set){}

B. While (condition){}

C. For(init_stmt;exit_cond;increment){}

D. Do {} while (cond)

Correct Answer: D

QUESTION 4
Which two practices should be used for processing records in a trigger? Choose 2 answers
A. Use @future methods to handle DML operations.

B. Use a Map to reduce the number of SOQL calls
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C. Use (callout=true) to update an external system
D. Use a Set to ensure unique values in a query filter

Correct Answer: BD

QUESTION 5
Which two characteristics are true for Aura component events?

A. Calling event, stopPropagation () may or may not stop the event propagation based of the current propagation
phase.

B. If a container component needs to handle a component event, add a handleFacets=\\'\\' attribute to Its handler.
C. Only parent components that create subcomponents (either in their markup or programmatically) can handle events.
D. The event propagates to every owner In the containment hierarchy.

Correct Answer:. AD
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